Tabulation of Bids Page 1 of 4

Contract ID: 15428 Counties: MIDDLESEX, MONMOUTH

Letting Date: August 04, 2015 District(s): C4

Call Order: 428 Project(s): STATE

Contract Time: 12/24/15 COMPLETION DATE Min: Max:

Contract Description: Maintenance Dredging for Pews, Stump and Leonardo State Mari

Line No / Item ID Item Description		(1) TRI-STATE D					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Miscellaneous		Cat Alt	Set:	Cat A	It Member:	
0001 151006M	1.000	12,970.00000	12,970.00				
PERFORMANCE BOND AND PAYMENT BOND	DOLL						
0002 152004P	1.000	25,000.00000	25,000.00				
OWNER'S AND CONTRACTO PROTECTIVE LIABILITY INSURANCE	DR'S DOLL						
0003 152015P	1.000	1,500.00000	1,500.00				
POLLUTION LIABILITY INSU	RANCE DOLL						
0004 153009P	(1)	60,000.00000	60,000.00				
BAR CHART PROGRESS SCHEDULE AND UPDATES	LS						
0005 154003P	(1)	147,000.00000	147,000.00				
MOBILIZATION	LS						

Tabulation of Bids

Page 2 of 4

Contract ID: 15428 Counties: MIDDLESEX, MONMOUTH

Letting Date: August 04, 2015 District(s): C4

Call Order: 428 Project(s): STATE

Contract Time: 12/24/15 COMPLETION DATE Min: Max:

Contract Description: Maintenance Dredging for Pews, Stump and Leonardo State Mari

Line No / Item ID Item Description			(1) TRI-STATE D	REDGING INC				
	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Miscellaneous		Cat Alt	: Set:	Cat A	It Member:	
0006	155003M	1.000	50,000.00000	50,000.00				
FIELD OF	FICE TYPE A SET U	JP U						
0007	155021M	4.000	10,000.00000	40,000.00				
FIELD OF MAINTEN	FFICE TYPE A NANCE	МО						
8000	157004M	1.000	15,000.00000	15,000.00				
CONSTR	UCTION LAYOUT	DOLL						
0009	158003M	1,486.000	10.00000	14,860.00				
CAUTION	I FENCE	LF						
0010	158009M	1,928.000	10.00000	19,280.00				
HEAVY D ORANGE	UTY SILT FENCE,	LF						
0011	158060M	135.000	100.00000	13,500.00				
CONSTR	UCTION DRIVEWAY	Т						

Tabulation of Bids Page 3 of 4

Contract ID: 15428 Counties: MIDDLESEX, MONMOUTH

Letting Date: August 04, 2015 District(s): C4

Call Order: 428 Project(s): STATE

Contract Time: 12/24/15 COMPLETION DATE Min: Max:

Contract Description: Maintenance Dredging for Pews, Stump and Leonardo State Mari

Line No / Item ID Item Description Alt Set / Alt Member Qua			(1) TRI-STATE DREDGING INC					
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001	Miscellaneous		Cat Alt	: Set:	Cat A	It Member:	
0012	158072M	1.000	15,000.00000	15,000.00				
OIL ONLY TYPE 1	EMERGENCY SPIL	L KIT, U						
0013	158085P	1.000	100.00000	100.00				
BIOLOGIC	AL SURVEYS	LS						
0014	159018M	3.000	10,000.00000	30,000.00				
CONSTRU SIGN, 6' X	CTION IDENTIFICA 12'	ATION U						
0015	161003P	(1)	71,040.00000	71,040.00				
FINAL CLE	ANUP	LS						
0016	201003P	(1)	85,000.00000	85,000.00				
CLEARING	SITE	LS						

Page 4 of 4

Tabulation of Bids

Contract ID: 15428 Counties: MIDDLESEX, MONMOUTH

Letting Date: August 04, 2015 District(s): C4

Call Order: 428 Project(s): STATE

Contract Time: 12/24/15 COMPLETION DATE Min: Max:

Contract Description: Maintenance Dredging for Pews, Stump and Leonardo State Mari

Line No / Item ID Item Description		(1) TRI-STATE [DREDGING INC				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Miscellaneous		Cat Alt	Set:	Cat A	It Member:	
0017 202041M	13,674.000	14.00000	191,436.00				
DREDGING, TRANSPORT AN PLACEMENT TO CDF	ID CY						
0018 202042M	5,707.000	14.00000	79,898.00				
DREDGING, TRANSPORT AN PLACEMENT TO BEACHFILL							

Section Totals: \$871,584.00

Contract Totals	\$871,584.00	
Cost Plus Time Totals	\$871,584.00	

() indicates item is bid as Lump Sum



Vendor Ranking

Page:

Call Order: 428 Contract ID: 15428

Counties: MIDDLESEX, MONMOUTH

Letting Date: August 04, 2015 10:00 AM District(s): C4

Contract Time: 12/24/15 COMPLETION DATE

Contract Description: Maintenance Dredging for Pews, Stump and Leonardo State Mari Project(s): STATE

Rank	Vendor	ID/Name	Total Bid	Percent Of Low Bid
1	T7463	TRI-STATE DREDGING INC	\$871,584.00	100.00%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,